

A Statutory Body Of The Government Of India

DATE OF SUBMISSION: 6/3/2015 12:00:00 AM

APPLICATION ID: NRCAPP13218

Mode of Payment: Credit Card

Transaction ID:51877917026030535ee6

Website: www.ncte-india.org

Particulars of the Authorized applicant

Name of the Applicant

: DR AJAY ARYA

Designation

: SECRETARY

Address

: ARYA COLLEGE OF EDUCATION

VILLAGE BHERIAN, POST MUKLAN

RAJGARH ROAD

HISAR

E-mail Address

: drajay0077@gmail.com

Telephone No (Office)

: 9215580230

Telephone No (Resi)

: 9354323752

Mobile No.

: 9254123752

Name of the Applicant/Organization/Socity/Trust : S D ARYA EDUCATIONAL SOCIETY

Postal Address of the Applicant

Plot Number

: 106/22-23&114/3/1

Street/Road

: 16 KM STONE

Village/Town/city

: BHERIAN

Post Office

: MUKLAN

Tehsil/Taluka

Town/City

: HISAR

State

: HISAR

: Hissar (HR)

: HR : 125007

District

: 01662

Pin Code

STD Code

: 01662245251

Telephone No

: 9354323752

gmail.com

Fax No.

E-mail ID

aryacollegeharyana@

Website Address

www.aryacollegeharya

na.com

Permanent Account Number of Society/Trust/body

: AACAS4956L

S.D. Arya Educational Society





A Statutory Body Of The Government Of India

Details of Programmes other than Teacher Education

Details of Programmes other than Teachers Education if any, run by the same Applicant / Organization / Society / Trust

Name and Address of the Institution	Name of the Programme	Level of the Programme	Duration of the	starting the	Name of the Affiliating	Date of Affiliation
			Programme	Programme	Board/Univer.	

Secretary
S.D. Arya Educational Society
Arya College of Education Campus



A Statutory Body Of The Government Of India

Particulars of Applicant Institution

Institution Information

Name of the Institution

Programm Applied for

Nature of Application

Mode of Course

: ARYA COLLEGE OF EDUCATION

: BA.BSc

: New Recognition

: Face

Complete Postal Address[As mentioned in the Affidavit]

Land Identification (Plot/Khasara No.)

KHEWAT NO 11/6 MIN KHATONI 20

Land Title

: MURABBA NO 106

Plot Number

: 22/2(2-12)23(8-0)114/3(1-

16)

Street Number

: RAJGARH RO

Village

: BHERIAN

Post Office

: MUKLAN

Tehsil/Taluka

: HISAR

Town/City

: HISAR

State

: HR

District

: Hissar (HR)

Pin Code

: 125007

Teleppone No

: 01662245251

Fax No.

: 01662245251

E-mail ID

aryacollegeharyana@gmail.co

Website Address

www.aryacollegeharyana.com

m

Institution is for

: Coed

Institution is a Minority Institution

: N.A.

Type of Institutions

: Private

(Please attach supporting documents. In case of institutions financed by Central Govt./State Govt./UT Admn. to the extent of not less than 50% of their recurring cost, a certificate to this effect from the Government concerned.)

Affiliating Body / University

Name

: KURUKSHETRA UNIVERSITY KURUKSHETRA

Address

: KURUKSHETRA UNIVERSITY KURUKSHETRA

Telephone Nos.

: 01744-238026

S.D. Arya Educational Society





A Statutory Body Of The Government Of India

Details of Existing Teacher Education Programmes

Details of Existing Teacher Education Programmes run by the same applicant

Society/Trust/	Organisation/(Company					
Name of the Institution	Name of the Programme	Date of Commenceme nt of the Programme	Existing approve d intake	ion	t Recognition Order Date		Affiliatio n
ARYA COLLEGE OF EDUCATION	B.Ed.	19/09/2007	100	FNRC/N CTE/F73 /HR556/ 28081	09/19/2007	KURUK SHETR A UNIVER SITY KURUK SHETR A	07
ARYA COLLEGE OF EDUCATION	D.Ed.	19/08/2008	50	FNRC/N CTE/HR 1084/20 08/5733 1	08/19/2008	BOARD OF SCHOO L EDUCA TION HARYA NA BHIWAN	08/19/20 08
ARYA COLLEGE OF EDUCATION	B.Ed. ADDITIONA L INTAKE	26/08/2008		NRC/NC TE/F7/H R1090/2 008/516 35		KURUK SHETR A UNIVER SITY KURUK SHETR	08/26/20 08





A Statutory Body Of The Government Of India

Details of already Submitted Application(s)

Details of the Application(s) for Teacher Education Programmes(s) already submitted by the

same Applicant/Organization/Society/Trust which is/are pending for final decision

Name of the Institution	Date of Application		Name of the Program me	Academic session for which applied	Proposed intake	Regional Committe to whom applied	Status
ARYA COLLEGE OF EDUCATION	12/25/2012	NRCAP P4002	D.El.Ed.	2016-17	50	NRC	AS DECIDE D BY P & H HIGH COURT FILE PROCE SSED BY NCTE ON 1/4/2015 DEFICIE NCY LETTER REPLIE D ON 29/05/20 15,

S.D. Arya Educational Societ



A Statutory Body Of The Government Of India

Details of Infrastructural Facilities available for proposed programme

Area of the land in possession (in sq. mts.)

: 6000

Built up area earmarked for the programm (in

: 2500

sq. mts.)

Whether the building constructed / proposed to

be constructed on the same land.

Date of completion of construction of the

: 29/05/2015

building.

Name of the competent authority for approval of : suprpanch gram panchayat village bherian

building plan and issue of completion certificate

Address of the competent authority for approval : suprpanch gram panchayat village bherian post muklan

of building plan and issue of completion

dist hisar

certificate

Whether Bldg. is disabled -friendly as per the

: Yes

law.

Total Built up Area (in sq. meter)

: 5500

Total Built up Area (in sq.ft.)

: 59180

Specification of Rooms and other infrastructural facilities

Description	Room No.	length in meter	Breadth in meter	Carpet area in sq. meter
Class Room	10	7.62	6.1	46.482
Class Room	12	7.62	6.1	46.482
Class Room	13	7.62	6.1	46.482
Class Room	22	8.32	5.59	46.5088
Class Room	9	7.62	6.1	46.482
Class Room	35	9.46	7.02	66.4092
Class Room	49	7.62	6.1	46.482
Class Room	50	7.62	6.1	46.482

			_		
i	6	,	-	b	
1			1	1	
	1	7	4	5	
	(-	-	-	

				0
Class Room	51	7.62	6.1	46.482
Class Room	52	7.62	6.1	46.482
Class Room	53	7.62	6.1	46.482
Class Room	41	7.62	6.1	46.482
Class Room	45	7.62	6.1	46.482
Class Room	54	7.62	6.1	46.482
Class Room	48	7.62	6.1	46.482
Class Room	42	7.62	6.1	46.482
Class Room	43	7.62	6.1	46.482
Class Room	44	7.62	6.1	46.482
Class Room	47	7.62	6.1	46.482
Class Room	36	6.1	7.62	46.482
Class Room	37	6.1	7.62	46.482
Class Room	39	6.1	7.62	46.482
Class Room	38	6.1	7.62	46.482
Class Room	40	6.1	7.62	46.482
Class Room	46	7.62	6.1	46.482
Seminar room / Tutorial room	4	8.33	5.59	46.5647
Seminar room / Tutorial room	55	7.62	3.65	27.813
Library	11	12.2	7.62	92.964
Principal Room	3	5.66	4.11	23.2626
Administrative Office	2	5.66	4.11	23.2626
Boys Common Room	24	5.66	4.11	23.26
Art & Crafts Room	7	10.16	4.57	46.4312
art & Crafts Room	8	5.73	3.28	18.79
Science Lab1	18	8.33	5.59	46.5647
sychology Lab	28	8.32	5.59	46.5088
Educational	31	13.42	5.79	77.7018

D- N 7 05

Secretary

Technology (ET) ICT Lab	1			
Any other Room	/ 1	6.09	3.04	18.605
Any other Room /	25	4.16	1.07	4.4512
Any other Room /	32	4.27	3.05	13.0235
Any other Room / Hall	29	4.16	1.07	4.4512
Any other Room / Hall	33	4.88	3.05	14.884
Any other Room / Hall	27	4.16	1.07	4.4512
Any other Room / Hall	20	5.09	3.66	18.6294
Any other Room / Hall	6	6.11	4.57	27.9227
Any other Room / Hall	34	9.46	7.62	72.0852
Toilets (Male)	23	4.16	1.07	4.4512
Toilets (Male)	17	4.57	3.06	13.9842
Toilets (Female)	5	1.82	1.22	2.2204
oilets (Female)	16	4.57	3.06	13.9842
Class Room	19	8.33	5.59	46.5647
Multipurpose Hall	26	15.24	12.2	185.928
Store Room	14	8.53	3.27	27.8931
tore Room	21	7.93	3.52	27.9136
tore Room	30	4.27	3.05	13.0235
irls Common	15	6.11	4.57	27.9227

Secretary



A Statutory Body Of The Government Of India

Details of Instructional Resources

Library

Total number of Titles

: 6533

Total number of Books

: 19600

Journals

: 30

Computer Laboratory

No. of Computers

: 60

Internet Access

: Yes

LAN

: Yes

Academic Staff (Applicable for existing institutions)

Details of Academic Posts available at present

Name of the Post	Number of Post	Pay Scale	No.of Filled Posts	No. of Vacant
ASSTT PROF	19	15600-39100	19	0
PRINCIPAL	1	37400-67000	1	0

Technical Support Staff

Name of the Post	Number of Post	Pay Scale	No.of Filled Posts	No. of Vacant Posts
HEALTH PHY	1	9300-34800	1	0
ART CRAFT	1	9300-34800	1	0
CLC CUM TA	1	5200-20200	1	0
_A	1	5200-20200	1	0
LIBRARIAN	1	9300-34800	1	0

Administrative Staff

Details of Non-Academic Staff available at present

Name of the Post	Number of Post	Pay Scale	No.of Filled Posts	No. of Vacant Posts
				1 0010

Secretary

STORE KEEP	1	5200-20200	1	0
HELPER	1	5200-20200	1	0
OA CUM CO	1	5200-20200	1	0
OM CUM OS	1	5200-20200	1	0
ACOA	1	5200-20200	1	0

Secretary
S.D. Arya Educational Society
Arya College of Education Campus





A Statutory Body Of The Government Of India

Arrangement for Games and Sports

Number of Playgrounds	length in meter	Breadth in meter	Carpet area in sq. meter
1	14	7	196
1	19	11	418
1	28	15	420

Website: www.ncte-india.org

S.D. Arya Educational Society Arya College of Education Campus

Vill.: Bherian, Post: Muklan Distt.: Hisar-125004 (Haryana)